Opérations avec deux fractions mixtes (C)

Nom: Date: Note:

Calculez chaque résultat.

1. 5z +5z =
2 5%+1§ =
3 5%+1§ =
4 5%—3% =
5 5%—1— =
6 5%+1% =
7 31—23+5%l =
8 5%+2§ =
9 S%Xlé =
10. 5%x1% =
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Opérations avec deux fractions mixtes (C) Réponses

Nom:

&

10.

Date: Note:
Calculez chaque résultat.
1 17 41 17 8 136 13
S=+5- = —+— = — X — = — = 11—
8 3 8 3 41 123 123
1 2 11 5 43 1
B3 =33 v 7%
1 8 16 17 65
— - = — 4+ — = — = 7-
53 + 19 3 M 9 9
1 27 16 11 1
_— 3 = —_——— = — = 2—
> 35 5 5 5 5
35 5 25
_ ] = — == = —_ = 4-
> 6 3 6
4 14 29 33 29 19 551 56
S5+ l—m = —+— = —X—= = — = 3——
5 19 5 19 5 33 165 165

2 . 4 _41.29 _41 5 _ 205
13°°5 135 13729 377

2 6 37 20 57

st =Tty = 7 =8
4 1 29 7 203 23
X6 T 5% T 300 T %3
1 1 16 4 64 1
X3 = 3x3 = 5 =7
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